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QUESTION 1

You can manage and monitor performance of an autonomous database running on autonomous Exadata Cloud @
Customer using the Performance Hub. Which two actions can be undertaken by Performance Hub? (Choose all correct
answers) 

A. Configure auto indexing. 

B. Kill a running SQL session. 

C. View ASH Analytics. 

D. scale OCPUs for an autonomous database. 

E. Configure IO resource management (IORM). 

Correct Answer: BC 

 

QUESTION 2

How many IP addresses do you need at a minimum for the client subnet when you plan to have four Exadata compute
nodes onExadata Cloud Service? 

A. 32 

B. 14 

C. 4 

D. 18 

E. 8 

Correct Answer: D 

((3 address * 2 nodes) +3 for SCANs +3 reserved in subnet ) 

 

QUESTION 3

You used the "Stop" option from the Console of an Exadata Cloud Service virtual machine within a VM cluster. What
impact does this have? 

A. TheExadata Cloud Service is stopped. 

B. All the virtual machines in the VM cluster are stopped. 

C. All the databases and infrastructure associated with the Exadata Cloud Service are stopped. 

D. The Stopped virtual machine is not available to any other database deployment. 

Correct Answer: D 
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QUESTION 4

Which TWO statements are true about Interface for Exadata I/O Resource Management (IORM)? (Choose all correct
answers) 

A. IORM allows workloads and databases to share I/O resources automatically according to admin-defined policies. 

B. IORM can be enabled across multiple databases using the Cloud interface of Exadata Cloud Service. 

C. IORM allows workloads and databases to share I/O resources automatically according to user requests. 

D. IORM can be enabled across multiple Exadata Racks using the Cloud interface of Exadata Cloud Service. 

Correct Answer: AB 

 

QUESTION 5

Which three statements are true regarding MySQL Database Service HeatWave? (Choose all correct answers) 

HeatWave uses periodic long-running ETL batch jobs to refresh the data. 

A. Heatwave is a in-memory,query-processing engine designed for fast execution of analytic queries. 

B. Heatwave is Exclusively available in Oracle Cloud Infrastructure. 

C. Heatwave uses machine learning to automate operations, increasing DBA productivity and reducing costs. 

D. HeatWave data which is needed for analytic processing is stored in disk files. 

Correct Answer: AC 

 

QUESTION 6

You want to scale within Exadata System. Which of the following two statements are true? (Choose all correct answers) 

A. The setting of database parameter CPU_COUNT is affected bymodifying the number of enabled OCPU cores. 

B. Modifying the number of enabled OCPU cores does not require database downtime. 

C. Modifying the number of enabled OCPU cores requires database downtime. 

D. The setting of database parameter CPU_COUNT is not affected by modifying the number of enabled OCPU cores. 

Correct Answer: AB 

 

QUESTION 7

When configuringconnectivity for hosts in the VCN, security lists contain defaults for implementing security rules. Which
TWO additional rules are needed for database systems? (Choose all correct answers) 
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A. allows SQL*NET traffic from within the VCN 

B. allows ONS and FANtraffic from within the VCN 

C. allows SSH traffic from anywhere 

D. allows Path MTU Discovery fragmentation messages 

Correct Answer: CD 

 

QUESTION 8

You are considering whether or not to implement bare metal or virtual machine shapes. Which TWO statements are true
about bare metal and virtual machine (VM) database (DB) systems? (Choose all correct answers) 

A. Both bare metal and vm DB systems support two-node Real Application Clusters (RAC) systems. 

B. The Console, API, and Oracle Cloud Infrastructure CLI are options for managing bare metal DB systems. 

C. Bare metal shapes determine the total raw storage allocated to bare metal DB systems. 

D. Bare metal and VM DB can only have a single Database Home, and the single database will be the version of the
Database Home. 

Correct Answer: BC 

 

QUESTION 9

Which network is used to facilitate the secure monitoring andadministration of Oracle- managed infrastructure
components in Exadata Cloud@Customer? 

A. InfiniBand network 

B. Backup network 

C. Client network 

D. Control plane network 

E. Cloud operations network 

Correct Answer: D 

 

QUESTION 10

How many DB systems must you provision before you can enable Oracle Data Guard for a virtual machine DB system
database? 

A. It depends on how many standby databases you want for your primary database in the Oracle Data Guard
configuration in Oracle Cloud Infrastructure. 
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B. Three, first for the primary database, second for the standby database, and a third for the staging database in the
Oracle Data Guard configuration. 

C. Two for both the primary and standby database, because a DB system with the database that you want to use as the
standby must already exist before you enable Oracle Data Guard. 

D. One with the primary database, because a new DB system with the standby database is created and associated with
the primary database when you enable Oracle Data Guard. 

Correct Answer: D 
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